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And if you wish I can say by the wife of a "85, whose father
accepted 1°27? on her behalf when she was less than three years old

OVERVIEW

The X3 explained that the ruling of TTvoX " regarding mno nnd nivw, which
prohibits his wife to him, is in a case where it is not a Xp*90 p90; either by an NWX
172 where there 1s no D132 poD, or in a case where she was 7w7Pn1 less than three
years old, so there must have been a nX°2 after she was three years old (to render
her a 77w2). There is therefore no P20 of 1NN 1K since she was already nwTPn
when she was three. There is only one P90 whether it was 012 (where she is
nAMn) or N¥12 (where she is 770X). Our NBOIN discusses various arguments why
she should still be nnM.

mooIn asks (1):
= 1892 PAD VNI PAD NP2°90 P90 NIIN ININ 99NN ON)

And if you will say; there still is a 852 poo (and she should be 75v2% nann),

first there is the Po0 of ©1IR2 PB® (Where she is NINM) or X2 POV (where she is
TT0OR) -
- 2R10 DN NIV NN MY NIAWS POD PYID MY NN ON)

But even if you will assume it was 17%92 (where she is 7M0X), nevertheless there
is an additional pso that perhaps she was 79v21 while she was still a mwp, and

seducing a muwp is the equivalent of 118 (which makes her 2x 2> 77v3% nnn) -
= (3,80 DV) 1939 YY NANA 139INT

As the X773 states in W22° HY X277 P79 that X377 01X 73vp "no. Therefore she should still be
712v2% NN on account of this X0 poo.

MDDIN answers:
= 3N11 11 DIN DYT 1Y W

! She was an 701 from less than three years old. There is ample time for her to be 19921 before she became a 77y1.
[Even though mooin previously (X7 1"7) stated that the 72102 X°nw 91 npr indicates that she was 77921 at the latest
possible time (when she is a 72173), which would cause her to be 7710, nevertheless there still remains the opposing
207 NP that would lead us to assume that she was 710p ®°nw> 79va1 (which is an 01X) and 75v2% nnn.]

% A m1vp has no ny7, so even though she consented (because of his seduction) it is still considered an d01X.

? We cannot say perhaps it was 01X and even if it was 1¥72, maybe she was a 7130p which is an 03X, This O1X was
the °n°7 of the original poo. If we assume that it was 71%72 then it cannot happen when she was a 7iop. [See
‘Thinking it over’ # 1.]
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And one can say that the term 92X is one, there is only one 90; perhaps it was 01X
(which includes 01382 72173 R°7Ww> 79v21 and 73vp "No) and perhaps it was 172 that she was 7
when she was a 1'¥12 79173, Therefore there is no X 50 poo.

mooIn asks (2):
- *nhyab 91794 NPINA NNPIN 9NN ON)

And if you will say; but let us place her an%7 np3a to her husband?

N1B0IN answers:
- [99%9 99 W5 ROMN] 905¥1923 1959NT5 *nY NON NYD NOINT 91219 Y9

And one can say; that there is publicity when a woman is 2iN1, as it states in

AR 715N [an 1R has a p] -
- 59519 X299 705N N2 DN DIPNI NI PET 199 11 RYD NIYYT NOHYM)

So now that there is no »p (that she was n01R1), the possibility that it was 31372 is
a majority, and the possibility that it was 91383 is a minority (since there is no
7P, presumably the probability of o1Xa is diminished), and the rule is that when
211 clashes against 721, the 219 perseveres.

noon asks (3):
- P339 1og9Y IND ONIN PATDT HONIN 21I) NPAD 79021 19 ON 99NN ON)

And if you will say; if indeed (that the 217 tells us that it was 172, since @ X0IIX
77 12), so even by a Xpoeo po® (an 77173 "X nwX) she should also be 7oK

7°v2°, since the P20 of o1, is like it does not exist -
- L9099 V9mn nptna ANPING 7Y KXY RNDY PIND POD POU 10 NIN INYI N9

so there only remains one 29, the po® of »"nrn or N 1R, and by one Po° we

* Before the claim of mnd nno she was 72y2% NN (she was NwTPH to him), now there is a poo whether she was
D1IR2 119¥21 or N¥N3, the 72¥22 7n°n np1i should resolve this Poo that it was 012 and she is 77927 NN (see previous
X2 1"7 'o1n “Thinking it over’ # 1 and footnote # 5).
> When a woman is 1'¥12 73 she hides it (out of shame), however when she is o132 72921 she is not (that) ashamed
to publicize it (see footnote # 24).
® Here X"7 X9 (2 7Y X A7).
" The a1 tells us that it was 11¥2 (since there is no 2 of O1X) and she is 52 70K, so even if the 72v3% N7 NP
tells us that she is NN, nevertheless we follow the 211 and she is 75¥2% 7I0K.
8 See x,0 PUNTP.
? See “Thinking it over’ # 2.
' maoin is referring to her 722 1n°A NpiA (mentioned in question # 2).
" mooin is referring to that which he explained in the previous X2 7"7 'oWn, that opposing this 2071 npin is the nprn
717 that she was a 7912 so we assume that 79921 Xnwi while she was 1’nin.We may have thought that the 20> nprn
can resolve the 720 of DX or 71¥7 since there is no opposing M7 NpP1; however regarding 1°NAN POO or 1NRN IR,
there is the 7137 npr which indicates MoRY.
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cannot place her on her 2057 np1i7 as I explained previously -

nv0IN answers:
- 12])2‘1‘1’3 21 NIN 9995 299 130N PEIAT NI INNT PHN 13929 99IN)

And the >''1 answers, that this 219 which assumes that it was 7892 is not a valid

219, but rather it is a 33297% 217; it is not a definitive 211 (and Xn»1X77 there still remains
the ?50 of D1 or 11¥M) -
- 219 D2IN 2235 1189 1339 22N KPIOD 10 DIPNIY YIY KPIOD PO0 DN 75

So therefore when there is a X359 P50 (there is another P50 besides P50 011R2 PHO
1%12, like 1NN 1K OO 1NN POD), she is permitted 1Hv2Y (because we include the
D11 PO to make it a X050 ?50), however where there is only one pso (by the
m1op where the P90 is 1¥72 750 DX 790), the 129 considered XA to be a 2
compared to ®1IR (because 12 w> X9p XONR) and it overpowers the 72y2% o apm.

mooIn proves that there is such a concept as 131277 21:
= 1929919 NON N2 91 RIT (x,9 97 pwirp) NOIYN T2 NENIY 9395 232 NI INN 29 INIYUN)

And we find something similar regarding a child who was found next to the

dough' where it is a 217 only 11377% -
- Bamann nx 1Y P9 PRT 0NN 13N 539 NP 397

So (since it is only a 1312772 217) therefore 33 '3 ruled there that we do not
burn the %190 on his account —

Mmoo asks (4):
= HINIYIY YOV NAN NN PWITP NAN DDA 1ND NYNI NN 9NN ON)

And if you will say; nonetheless in the cases of 375> nwR and where her father

was PR7p vap» from a YR when she was less than three years old -
= WIN NDIYT PAD \Y NN PIDT NPT PAD NN

2 We follow a X087 211 whether it is X172 or X219%; however a 11277 211 is effective only X1> but not X21p5.
[See footnote # 15.]
5 Even though 77y X211 7P X217, nevertheless since this is not a 73 217, therefore (if there is only one pood), even
if we combine the w131 of 01X to the 79¥2% n°7 NPT to oppose the 21, it still remains Poo» MoX. However as soon
as there is an additional P50 it becomes a valid Xp 50 P50 (See X"pyI7 NINIR).
4 The case there (as 1977w 7"7 'on there explains it) is that there was a 10 P11°n next to a (large) dough — 70y - of
770, and he had a (small) piece of dough — px¥2 - in his hand; the issue is whether the ?11°n took the px2 from the
70y (so the 710"y became 7X¥nY 717N) or did someone give the P11°n the PX2a and the 770°Y remains 77170, The adn
maintain that the 79°Y is 7XnY, since it is the nature of a child to touch things, so he probably took the px2a from the
7o°y. This is considered to be (sort of) a 217. However it is only a j1277% 217, not a definitive Xn*IX77 217,
'S We are forbidden to eat this 7m0 because the 11277 211 is effective Xn? (see footnote # 12), but we cannot burn
this 70°¥ of 7m0 (which is considered 712771 ARMY), for XN™MKRTA there is no 217; the 70V is not XN™MRTH RNV and
we can only burn Xn™IXTA AXAY 710.

3

TosfosInEnglish.com



*R171"7 '010 R,0 M2InD .72

There still is a X320 P20, for there is the P5® that perhaps she merely is a ¥ nom

(so she is "IMM)'® or perhaps she is a WX NO77T (where she is 710K) -
- XY N9 NPNT Y RN ON MY 19 7R 119 ' nuna)

[And if we are discussing an 772 NWNX we can say even if she is not a y¥ nsm, but
rather a ¥°X no1MT -
- 1HNN PR POV PHND POV OIPN YN

Nevertheless there is the % of nnn (where she is 77I0K) or 1°nRN PR P50 (where

she is n7Mn); and if we are discussing -
= [1I893 79D DIINA POD \Y NI NIONT 9190 XNN ON HNIYI NUN

An R nwR (a mwp), even if you will say she is not a y¥ nom (but rather a

YX no1N7T), nevertheless there is ©1I82 Pp® (where she is NNM) and X" PoO
(where she is 7710X)]; in any event there is a X590 250, so why is she 770K —

mooIN rejects an anticipated resolution to his question:
= (3,75 1p%) NIV 1IN 19999N NPT Brvaw Y \Y NINT 991D PN

And we cannot say that a y¥ n2m is not common, for X7°7 '1 states in %X Po

s -
- Yymam 533 5y ADANIY 5199 PYINT MPY 1Y PRY NNID 22)

Regarding (the ruling of n"9 7Rk M>no that if one marries) a blind woman, the
husband does not have 2°91n2 niyw, the reason is because she knocks herself on

the ground -
- 239w 19 X P)0anm sv1an 13 17919 2999

And the X723 challenged this explanation; all women are also prone falling; this
concludes the citation from the X} there, Moown concludes his rebuttal, it is

o [See amxi 71"7 'on footnote # 6.] This P50 (of y¥ n2) is the additional poo that N1voIN adds to the P50 of the XA
(either by 175 NWX or "3 nan 7nd). See ‘Thinking it over’ # 3.
7 In the bracketed area non reiterates the mp oo (either by 172 NWX or "3 nam 7n2) mentioned in the X 3. The
gloss attributes this bracketed addition to the "wnin nona. See ‘Thinking it over’ # 3, footnote # 33.
'8 Therefore it cannot be considered as a oo, so there is no Xp*50 poo, just one P90 and therefore 710oK. This (that 210
w1 lose their 0°71n2 [before 1Xw1] through mar and not through yv n31) must be considered a XRN»X7A (7A3) 217,
for if it would merely be a 11277 217, it would seemingly still function as a X0 P50, as MOOIN previously stated.
' The husband knows that she is blind and prone to falling and hurting herself, which may cause her to lose her
o'71n2 (a y¥ nom), therefore it is assumed that when he married her he forfeited his rights of o102 navo.
% Nevertheless we do not say that there is no 2°2n2 v on account that she may be a y¥ nom; why is a X
different. The X nx there answered that when a girl falls she tells her mother and they determine whether she is a
vv o, however a blind girl does not tell her mother. The X3 however accepts the premise that falling and losing
the 0°7In2 is a common occurrence.
*! And even according to the 7127 who argue with n12210 and maintain that a 2212 nIyv 72 W XM, because Py NoM
oW X7, nevertheless the Poo of y¥ N should suffice to make it a X0 90 for it is not less than 01X which is also
m°ow R and nevertheless it allows for a Xp>50 Po0 (see 1"MN).
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evident that YV N1 is common since the X723 asks that by all women it is possible that
they are yv nom.

mooin offers a partial solution:
- 99V AN DIND AN XY NIMNT ZININ 13939 W99

However according to the interpretation of the 1''2 that by a y¥ n>y» her nn» is

2Inv, it is properly understood, for here the claim is >nX¥» Mnd NN, so it cannot be that
she is merely a y¥ nom, since by a yv ndmn it is 2o annd. However according to the other
interpretation that by a y¥ n21 her nno is mMnd the question remains.

N1B0IN answers:
- 203N NXY23 1199 793 N PRT PNIo NN KON Y NIINT RPN ONT Y5 U

And one can say; that if indeed she is a Yy n>m, she would have claimed it
(after he said *nX¥»n mno nnd), since there is no shame in being a yv N> as there
is by a DX nXva -

1792 PONUANY PR NIYV NYT)
And since she does not claim that she is a y¥ no1, there can be no doubt about
it that she is a ¥R no1M7 and not a y¥ N>, so there is only one 790 and therefore 7710X.

SUMMARY

There is no 7vpP X°AWD Poo (by a '3 NAn 7MAB) since X7 TR 01X aw. There is no
77¥2% 0’ NP since 7P 17 W0 RONX so the 217 is 11¥72. However this 102 211 s
effective only by a P50 and not by a Xp*90 0. There is no yv n21m poo (either
because a y¥ N2 is 0MN0 AnNY, or) because she is not claiming *IX y¥ No1A.

THINKING IT OVER
1. MpoIN states that X177 77 01X ow.> Why cannot we then say that the ruling of '
TTYOR is regarding a woman who was w7pn1 when she was a 7ivp, even after she

2 See previous KA "7 NSO,
 The rule that 1%y 770X a1 *NX¥A MDD [N AN is (only) in a case where she claims I am a 72102 or that you (the
husband) were 2312 me during 7°01R. In that case it is a ®121 32 the husband is stating that she is not a 79112 and he
was not 2312 her before, therefore he is believed. However if she claims >n0iR1 or she was 779v21 before 1w17p (since
she is a ™2 and he is a Xnw [he does not know when or how she was 19¥21]), she is believed and is 79¥2% nana. See
X? 11"7 010 on the 2 7MY (and R"w1n here). Therefore since she is claiming X 79112 (or you were 7312 me) we do
not assume that she is a y¥ nom, for why did she not say so. However when she does not claim it was 012 (but
rather [ am a 7191n2. etc.) we cannot deduce that it was not 01X2 since there is more shame in saying 01%2 7521 (and
therefore she does not say it) than saying (°IX 77103, etc. or) >IX ¥ non.
* However there is (even) more shame by 11¥72 77921 than by 011%2 7%¥23, therefore 917 19 &> XonX. See footnote # 5.
2 See footnote # 3.
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was three, and there is no Xp°50 Po0. What will we say; 1X72 290 012 Po0 and
even if it was 11X72 maybe it was 1°’nnn 1°X; however if it was 1NN 1°X she was a
mvP and X7 OINR 7I0P MN9, so there is only one P50 (whether it was D1WR2 or 11X72)
since X171 77 o1 QW ?!*°

2. Mmoo asks (#3) why does the X773 consider it a Xp°90 P90 since DI 1s a VYN
compared to NX7 so it is a non-existent P50 and only the P50 of 1°NrN or 1NN 1K
remains.”’ Seemingly the idea of a X0 P90 is that when there is only one pod
there is an even chance (whether it is 90 or M0X); however, if we can show that
even if we assume the 710°X option (in the first ?90), nevertheless it still can be 20
(because of the second p90), then it is 7N (since there is a greater chance of 07
than 70°X). It should make no difference how unlikely the second 20 is, for in any
case it diminishes the odds of the M0°X to be less than the n°7. What 1s n1v01N0

question?!*®

2. mdoin asks (#4) that there is always a X090 P90 since there is the P90 of y¥ non
in addition to the po0 of 01X2 (by a mvP) or 1NnN 11X (by an 772 nwx).” There is a
view™ that a Xpd0 po0 is effective only if it is reversible (797nn); you can begin
with either pDD.31 Seemingly this Xp°90 P90 of y¥ N2 is not 79707; it works if we
start with y¥ N2 po0 and WX NOMT PO 2"'NX, then (either) 01182 Pd0 (by a mwvpP) or
NN 1R P90 (by an 372 NwX). However if we begin by 0112 790 then (seemingly)
we cannot continue with 1¥12 %"nxX1 (meaning that 11¥72 72v21) then vy nowm poo,>
if she was 1¥12 75¥21 there is no 90 to be 7°n1 her!™ Does this prove that maon
does not require a oMM XP'O0 PoD 7>

% See X"aw" and R"py n.
7 See footnote # 9.
2 See "1, etc.
¥ See footnote # 16.
3% See *"1n on the (2 MX) 2 TY.
*! For instance we can say (by an PXw> nWK); 01X POO 1NAN 2''NRY PN PR POD, or we can say 1¥72 7"'NRY DRI POD
NN IR po0. It works either way.
32 The same difficulty applies if we begin 7nmn "nXY AR X P90 (meaning that YNAN 7923), then ¥ N2 poo?!!
33 Perhaps that is why the 2"wnnn added the mp>50 of 012 and NN WX after the P90 of ¥ N3 to inform us that the
X950 P50 must begin with Yy N2 poo. See footnote # 17.
3* See v1 MIX PrIX° D7D,
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